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Note :— () Answers may be written either in English or in Hindi;
' but the same medium should be used throughout the
paper,

(i The maximum marks printed on the quesﬁon paper are
applicable for the students of the Cat. *B’. These marks
will, however, be scaled down proportionately in
respect of the students of Cat, ‘A’ at the time of posting
of awards for compilation of result.
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Attempt any five questions. -

All questions carry equal marks.
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Explain the expenditure method of measurement of national
income. What precautions one must take in the use of the

expenditure method ? X
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() What is investment function ? Discuss the factors that
determine the level of desired investrnent spending in
an  economy. 10,10

(b) Bring out the relation between MPC. MPS, APC.
APS,
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Explain the impact of an increase in autonomous spending
on real GDP if price level is constant. How will your answer

change if prices are allowed to vary ? 10,10
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{#}) How is the net export function related to the
GDP ? 128
(/)  You are given the following information ;
Consumption function, C = 150 + 0.2 Y,
Investment, 1 = Rs. 100 crores
Lump sum taxes T = Rs. 50 crores
Government expenditure G = Rs. 200 crores
Exports (X) = Rs. 50 crores
Imports (M) = Rs. 30 crores
Y,=Y-T
What is the equilibrium level of GDP ? Calculate new
equilibrium level of GDP if Government expenditure

increases from Rs. 200 crores to Rs. 300 crores.
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Why is the long run supply curve vertical ? What does this
imply about the impact of AD shifts on equilibrium real GDP

in the long run ? 20
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Explain how the transmission mechanism connecls monetary

forces and real spending flows. 20
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Explain using demand and supply curves how the markets for
foreign exchange reaches its equilibrium in an economy with

flexible exthange rates. 20
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Write. shori notes on any two : 10,10
() Nominal GDP and real GDP
(/) Money and near money

(ii) Budget surpius function.
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